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++ Evaluation

MathALEA

% Calculer
1

. —9%x9+4+48+6

CALCULER AVEC LES RELATIFS

1
2. —3x (=3) x (—=4) +9
3. =5 x (—4) x (41 — 39)
4. —3+3 % (-8)
5. —7+30 = (—5)
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V2

++ Evaluation

MathALEA

% Calculer
1

9x2+(3-09)
(—14+2—-8)x3
2x2x(—4)—-11
—12+(-3+6)
—-10 - (+2)+3

CALCULER AVEC LES RELATIFS

AN o ol A
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V3

++ Evaluation

MathALEA

% Calculer
1

6+ 70 = (—10)
6x(=5)+9x%x9
—24+(—6) x 6
11—-(4+9) -8
(=10 —=5) x 2

CALCULER AVEC LES RELATIFS

AN o ol

mm-m@m)))
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V4

++ Evaluation

MathALEA

% Calculer
1

6x (—4) —2x5
(74 — 25) + (=7)
—5Xx4x2+4+6
—60 + (—10) x 4
—2—(+8)+38

CALCULER AVEC LES RELATIFS

AN o ol

mm-m@m)))
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MathALEA

++ Evaluation

CALCULER AVEC LES RELATIFS

1
2. 3x(-3)x(-4)+9=9x(-4)+9=-36+9=-27
3. =5 x(—4)x (41 —39) = =5 x (—4) x 2=40

4. -3 13 x(-8)=-3-24=-27

5

I
|
|
. —9%x9+48:6=—81+8=—T73 |
I
I
. =7 430+ (-5)=-7T—6=-13 |
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MathALEA

++ Evaluation

CALCULER AVEC LES RELATIFS

I- Corrections ———————————————— I

I I

| {1> |

I 1. 99x2+(3-9)=9x2+(-6)=18=+(—6)=-3 I
2. (-1+2-8)x3=-7Tx3=-21

I 3.2x2x(-4)—-11=4x(-4)—-11=-16—-11=-27 I

I 4. —12+(-3+6)=—-12+3=—4 I
5. —10-243=-124+3=-9

mm-m@m)))
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MathALEA

++ Evaluation

CALCULER AVEC LES RELATIFS

I- Corrections = == == == == == == == == == = = —— - |
l |
| {>1 |
1.6 +70+(~10)=6—7=—1 |
I 2. 6x(—5) +9x9 = —30+81 =51
| s —24+(—6)x6=4x6=24 |
| 4 11-9-8=2-8=-6 |
I 5. (—10 - 5) x2=—-15x2=—-30 I

W-m’)}
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MathALEA

++ Evaluation

CALCULER AVEC LES RELATIFS

I - Corrections ———————————————— I

l |

| {>1 |

| L 6 (—d) — 245 = —24 — 10 — —34 |
2. (7T4-25)+(=7) =49+ (-7)=-T7

| 3 5 4x246= 20x246=-40+6=—34 l

| 4 60 (-10)x4=6x4=21 |
5. 2 84+8=—10+8=—2

W-m’)}
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